B VRLA Rechargeable Battery

. BP120-12

FEATURES APPLICATIONS
Maintenance Free ( topping up not needed ) ¥g§com Systems
Non - spillable ( no free electrolyte ) Switch Boards
Low Self Discharge, less than 3% per month Elevated Platforms

. . . . Photovoltaic Systems
both Vertical & Horizontal installations Emergency Lighting
integrated Flame Arrestor at each cell Golf Carts

Carry Handles for easy installation

SPECIFICATIONS
Nominal Voltage 12V
Nominal Capacity 120Ah @ 20 hour rate F.V.(1.75V/cell) “
Approx. Weight 39.5Kg(87.1lbs.)
Terminals B4 (Fitting M6 bolt & nut) 12 is optional MH19884
Internal Resistance <4m() (Fully Charged )
Max. Discharge Current 800 A (5 sec.)
Max. Charge Current 36 A c €
Operating Temperature Range Charge : 0°C~40°C(32°F~104°F)
Discharge : -20°C~50°C(-4°F~122°F)
Storage. : -20°C~40°C(-4°F~104°F) ® |EC 60896-21/22
Container Material Standard: ABS( UL94 HB)  BP120-12 ® JIS C 8704-2
Optional: Flame Retardant ABS(UL94 V-0) BP120-12FR | © GB/T 19638.2

B Length
407+2.0 (16.02+0.08) \ [ | ® Terminal B4 ® Terminal 12
B Width De e T%M 3(0.29) M6x1.0

7 3{@_2‘9
>
173+2.0 (6.81+0.08) 407 + 2 (16.02 + 0.08) 173 + 2 (6.81 + 0.08) é = ﬂ %
! (=) !
B Container Height AmY S '»8§ B s = 5o I% -
= < S
210+2.0 (8.27+0.08) ag %:m
B Total He|ght %i [M6 BOLT & NUT] [M6 BOLT]
(2]
239+2.0 (9.41+0.08) S Terminal Hardware Initial Torque: B4,12(5.5Nm 5%)
Disch
Fv T —Timd 15 Min 30 Min 1 Hr 3 Hr 5 Hr 10 Hr 20 Hr
10.8V 2346 1523 873.4 349.8 241.2 134.8 70.92
10.5V 2454 1581 899.6 356.8 244.8 136.8 72.00
10.2V 2530 1617 915.7 360.0 246.1 137.5 72.36
9.9V 2588 1640 926.7 362.5 2472 137.9 72.58
9.6V 2640 1656 936.0 364.7 247.7 137.9 72.58
Disch
v Time 15 Min 30 Min 1 Hr 3 Hr 5 Hr 10 Hr 20 Hr
10.8V 204 129 73.4 29.1 20.10 11.23 5.91
10.5V 213 134 75.6 29.7 20.40 11.40 6.00
10.2V 220 137 77.0 30.0 20.51 11.46 6.03
9.9V 225 139 77.9 30.2 20.60 11.49 6.05
9.6V 230 140 78.7 30.4 20.64 11.49 6.05

All data and artworks shall be changed without prior notice, BB reserves the right to explain and update the information contained hereinto

For operation, please refer to the instruction from technical manual. B/3 _REV. May 2021 Powel’ed bV B . B . TeCh(C ha n gS h a) CO .y Ltd .




